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based on jointwork with Patrick Gérard (Orsay),
numerical simulations by Erwan Faou (INRIA Rennes)





A baby example

Recall
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.

and
u(eix) = 〈C(eix)−1(1N),1N〉.

Still valid if s̃N = 0.



A baby example

s1 = 1 + ε , s̃1 = 1 , s2 = 1 − ε

State 1: ψ1 = 0 , ψ̃1 = 0 , ψ2 = π〈 1+ε−eix
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State 2: ψ1 = 0 , ψ̃1 = 0 , ψ2 = 0〈 1+ε−eix
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A cousin of the baby example

Start with the datum

uε
0(x) = eix + ε .

Then (movie Erwan Faou)



The trajectory of pε(t) and consequences

uε(t , x) =
aε(t)eix + bε(t)

1 − pε(t)eix

pε(0) = 0 , 1 − |pε(tεn)| ∼ ε2 , tεn ∼ (2n + 1)π
2ε



The trajectory of pε(t) and consequences

‖uε(tεn)‖2
H1 ∼

∫ 2π

0
|∂xuε(tεn , x)|2 dx ∼ 1

ε2 ∼ |tεn |2
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dt = ∞.




